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Choose the correct option for the following questions. 1x15=15
1. Any two non zero vectors are —
a. Always parallel
b. Always co-linear
c. Always co-planer
d. All of these
Ans: c. Always co-planer
2. The magnitude of resultant of two vectors of equal magnitudes is equal to one of them. Then the angle between
two vectors is —
a. 0°
b. 60°
c. 120°
d. 90°
Ans: c. 120°
3. Two forces of equal magnitude F are acting on the same point at right angle to each other. The magnitude of
resultant force will be —
a. F
b. 2F
c. More than F but less than 2F
d. Greater than 2F
Ans: c. More than F but less than 2F
4. If two vectors of magnitude a and b are at an angle 60° with each other, then —
a. la+b|>1
b. la+bh|l<1
C. la—b|>1
d la—bl<1
Ans: la+b|>1
5. IfP+Q =R, |P| =|0| = V3 and |R| = 3, then the angle between P and( is -
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The coordinate of the point whose position vector is —2i + j — k is —

a. (-2,-1,-1)
b. (-2,1,-2)
c. (2-1,-1)
d. (-2,1,-1)
Ans: d. (-2,1,-1)
A parallel vector of the vector —21 is —
a. —2f
b. —5i
c. 12i
d. Bothb. and c. are orrect

Ans: d. Both b. and c. are orrect
A vector perpendicular to the vector 205 is —
a. j
b. 1
c. —2i
d. Both option b. and c. are correct

Ans: d. Both option b. and c. are correct
The opposite vector of the vector 27 — 3j is —

a. 20+ 3j
b. —2i—3j
c. —20+3j
d 3i-2f

Ans: ¢ —2i+ 3f
. For which value of a , the vector 2ai — 6] will be a parallel vector of the vector —57 + 3]
a. 5
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Ans: a. 5
. The vector perpendicular to the position vector of the point (5,3) is —
a. 50+ 3j
b. —5i+3j
c. 51—-3j
d —3i+5j

Ans: =37+ 5j
. For which values of a and b two vectors 2i — 3j — k and ai + bj — 2k will be parallel to each other?
a. 4,6

b. 4,—6
c. —4,6
d —4,-6
Ans: b. 4,—6
. If the angle between P and @ is 6 then the angle between P and —Q will be —
a. 0 always

b. 90°— 6 always
c. 90°+ 0 always
d. 180° — 0 always
Ans: d. 180° — @ always



14. The angle between two vectors 5f and 3j is —

a.

b.
C.
d

0°
30°
45°
90°
Ans: d. 90°

15. If the angle between P and @ is 60° and |P| = ||, then the ratio of |P + @] and |P — @] will be -
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Ans: c.v/3:1
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